O % ’b S ‘ Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuacio:
6,052 x 100 = 1,849 x 10 =
9,472 x 1000 = 4,978 x 1000 =
10, 359 x 100 = 2,532% 10 =
8,51 x 100 = 8,264 x 100 =
3,835 x 1000 = 7,814 x 1000 =
8,589 x 100 = 9,638 x 100 =
5,94 x 1000 = 6,582 % 10 =
7,29 x 100 = 5,842 x 1000 =
2,354 x 1000 = 3,855 x 1000 =
8,867 x 10 = 8,685 x 10 =
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Pseseo

Multiplique decimais por 10.100.1000

Nome:

6,052 x 100 = 605.2

9,472 x 1000 = 9472

10,359 x 100 = 1035.9

8,51 x 100 = 851

3,835 x 1000 = 3835

8,589 x 100 = 858.9

5,94 x 1000 = 5940

7,29 x 100 = 729

2,354 x 1000 = 2354

8,867 x 10 = 88.67

Encontro: Data: Pontuacao:

1,849 x 10 = 18.49

4,978 x 1000 = 4978

2,532 x10=25.32

8,264 x 100 = 826.4

7,814 x 1000 = 7814

9,638 x 100 = 963.8

6,582 x 10 = 65.82

5,842 x 1000 = 5842

3, 855 x 1000 = 3855

8,685 x 10 = 86.85
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